

Solve the problems.

$$6 - \begin{array}{c} \text{🐰} \text{🐰} \\ \text{🐰} \text{🐰} \end{array} = \underline{\hspace{2cm}}$$

$$\begin{array}{c} \text{🥚} \text{🥚} \text{🥚} \text{🥚} \end{array} - 4 = \underline{\hspace{2cm}}$$

$$4 + \begin{array}{c} \text{🥕} \text{🥕} \text{🥕} \text{🥕} \end{array} = \underline{\hspace{2cm}}$$

$$\begin{array}{c} \text{🐣} \text{🐣} \text{🐣} \text{🐣} \\ \text{🐣} \text{🐣} \text{🐣} \text{🐣} \end{array} - 5 = \underline{\hspace{2cm}}$$

$$\begin{array}{c} \text{🐣} \text{🐣} \\ \text{🐣} \text{🐣} \text{🐣} \text{🐣} \end{array} + 3 = \underline{\hspace{2cm}}$$

$$6 + \begin{array}{c} \text{🐰} \text{🐰} \end{array} = \underline{\hspace{2cm}}$$